
  

 

  

Particule  Masse cτ Désintégration Probabilité d’embranchement

π– ( du ) 0,13957 GeV/c²   7,8 m ~ stable -

π+ ( du ) . . .

K+ ( us )   0,4937 GeV/c² 3,7 m ~ stable -

K– ( us ) . . .

p  (uud)    0,9383 GeV/c² ∞ stable -

p  (uud) . . .

K0s ( ds ) 0,4976 GeV/c² 2,68 cm K0s → π+ π–  69.20 %

Λ  (uds) 1,1157 GeV/c² 7,89 cm Λ → p+ π–  63.9 %

Λ  (uds) . . Λ → p–  π+  .

Ξ– (dss) 1,3217 GeV/c² 4,91 cm Ξ– → π– ( Λ → p+ π– )     99.887% x 63.9% = 63.8%

Ξ+ (dss) . . Ξ+ → π+ ( Λ → p– π+ )     .      
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